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The question paper has 30 questions in all. All questions are compulsory.

Marks are indicated against each question.

Questions from serial number 1 to 8 carry 1 mark each.

Questions from serial number 9 to 20 are 3 marks questions. Answer of these questions should not
exceed 80 words each.

Questions from serial number 21 to 28 are 5 marks questions. Answer of these questions should

SRR exceed 120 words each

Question number 29 and 30 are of History and Geography map questions of 3 marks each. After

completion, attach the maps inside your answer-book.
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L State any one feature of Rowlatt Act of 1919. : 1
ere TR 1919 =1 g T fagra fofag |-
Which minerals are derived from oceanic waters ? 1
HERTHE 56 § whiH-9 @it 9T 2 € ?
/ What is meant by challenge of expansion of democracy ? 1
S o T <t AT b1 o 31 B2
4, Name the two types of political parties. 1
2 YRR o TR ger o A ferfer |
0. Mention one most important activity essential for democracy. 1
W%mmw@Wnﬁrﬁmmmaﬁmt
6. Which kind of cases are delt by district consumer f0rum; ‘ 1
forem et ST STeTe R e F G e 32
- j Write the main role of World Trade Organisation. 1
forya =aTIR w1 w1 qEE YA faren |
Which is the most popular source of credit for the rural households in India ? | 1
W # I aftar & forg aa () 1 galifye ceniiE B HH-9 e ?
9. Explain the factors which shaped Indian politics towards the late 1920s. 3
1020 3 773 3 sif 79 s v 1 feem 23 o) e ) oA FY
/ Explain the issue behind Gandhiji’s launching of the Khilafat Movement with Ali brothers. 3

TTeT S R ool syt % WY REewa e E I % 1S TR i T S |

1la.  Why the people of the nations like Germany, Italy and Switzerland did not share a collective identity or

common culture in the past ? Explain with the help ofthree suitable examples. ' 3
SR, geett qe faesRers S8 T ot A WHfEh YeuH SAYa GHM GEpia % IRIER F4 T8l 4 2 94
I STV ST TR FRITIT |

OR/3tgat

yDescribe the impoﬁance of China in the early history of Indo-China.
-9 % WRIYe giae § =19 % T &1 quid Hifeg |
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/ Classify industries on the basis of raw material. Give one example of each. 3
ﬁw%mwﬁwmml T 1 Th-Teh SETeLl SIS |
13.  Whichis tﬁe longest gas pipeline in India ? Write any two features ofit. 3
o 3 TR e e e S ¥ 2 gEen w & v ferfe
yExplain the Balance of Trade. How can it be favourable and otherwise ? : T

SR Tqer F1 R HIC | T8 FFE FHFR ATHR S SRR B T & 2
{i/‘ “Most of the democracies of the world face the challenge of expansion and challenge of deepening of

democracy.” Support the statement with three relevant arguements. 3
“ﬁ?‘q’a?ﬁmﬁmaﬁmﬂﬁﬁﬁamﬁmwmaﬁﬁﬁwmm@%l"ﬁ
e wied o # gfte Hifaw |
16./ 'What is meant by dynastic succession in politics ? Explain with examples. 3
{ Tt B e W @ e ¥ 7 SETE A TR (S|
; Q17/ / Has democracy been successful to reduce poverty in India ? Explain with appropriate reasons. 3

S WG A R F1 S H0 Tl 1§ ? SUgE e dfed SATe Hifs |
y/ ~What is meant by consumer s right to seek redressal ? How can an aggrieved consumer seek justice ? 3
e 3 et Framon sifrer & 2 s & 2 e difea SusiaT fFg TR =Td WTe L HH § ?
19. / What is meant by double coincidence of wants ? Explain with an example. 3
SavaRME 3 S TAN o ¥ 2 T W ) werHal § e Hifo)

20..~ “Globalization helps in the movement of people between countries.” Explain the objectives fulfilled

through it. ‘ 3
et Fofir=t 297 3 e @ B ST B wer A #1 TR R A A v e
hifeTg |

21.  “Growing anger agains the colonial government was bringing together various groups and classes of
Indians into common struggle for freedom.” Justify the étatcment. : 5
“aﬂqﬁ%ﬁﬁwaﬁﬁwwmﬁﬁ%ﬁfwﬁ,aﬂmﬁﬁwﬁmw@%”ﬁm
it =T fadre it |

P.T.O.
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22a.  Analyse the important causes of conflict in the ‘Balkan’ area after 1871. 5
1871 % 9y, ares %ﬁm%nﬁwmmﬁﬁwﬁmi
OR/31erar '
22b,” “Teachers and students did not blindly follow the curriculum during French Colonisation and contributed in
! their own way in the nationalist movement.” Explain the statement,
VTt st v % SR foe ﬁ?ﬁmﬁq‘i%wmaﬁ@éﬁmmwﬁﬁm a1
aﬂtaﬁﬁﬂ%@maﬁﬁmﬁzﬁ’mﬁml”wmaﬁwaﬁﬁm
237 Describe any five human factors responsible for the location of industries. 5
Bﬁﬁﬁm%mmﬁﬁﬁwmwaﬁﬁﬁm

24.  Explainthe organisation of airways in India aimed at meeting the needs and requirements of transportation

and communication, 5

IR SR HuR STTEYFFAISA S QU H T w29 J M H o1y e % Wed #t s i

/ What are the functions of political parties in a democracy ? Describe any five, 5
Titeher # ST 2ai o e e § 2 fer=i i =1 avia #ifs

/%./ How do people take part in decision making in a democracy ? Explain. 5

o AaA & ol o %} ufin | o g vew I o € 2 e #ife )
\27/ What is the modern form of money ? Why is it accepted as a medium of exchange ? As per Indian law,

what are the norms related to its use in the country ? 3
HET T SNy w9 9o &2 ! fafim & meam & ww # o R v s 2o YR HIA %
ST 291 H ek ST % e foram ¥

y Explain the ideas behind the Consumer Protection Act, 1986. '5

SR GEr stfufien 1986 % forami =1 wrs wif |

29.  Two features (A)and (B) are marked in the given political outline map of India. Identify these features with
the help ofthe following information and write their correct names on the lines marked in the map: 3
(A)  The place associated with the calling-off the Non-Cooperation Movement in 1922,

(B)  Theplace where the session of Indian National Congress was held in 1929

ey
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On the same political outline map of India, locate and label the following item with appropriate symbol :
(C) Kheda
Note : The following questions are for the visually impaired candidates only fn lieu of map
questioh s
Name the place associated with the calling-off the Non-Cooperation Movement in 1922.
Name the place where the Indian National Congress‘Session was held in 1929.
Name the state where Kheda is located.
W o fa gy s Yan-wmfes § (A) ok (B) w <) agw fafea fofd 78 &1 A9 <t 1€ smert <
YR W $ AL 1 TEE L THEA H & fafeaq fensi W) 37 wél M fafey —
(A) 1922 § EeAT SR H1 aTTE @ Tl € |
(B) T W&l 1929 # WRda U I 1 SAfayH gaon o1
et wrfes w fr=fafen #1 swgs g g gvise va st A fafen —

RN (S

Fe : Frefafaa wvT dac ghearfim adsnliar & forg arafes v & @ o § —

39 T 1 W fafey S 1922 3 srged STieied S arget ¥ g

3G T &1 AW fefen St 1929 7 YR T S 1 SAfuaeE gan 9t

I T 1 A TR @ OST AareYd  |

(a) Two items Aand B are shown in the given political outline nﬁp of India. Identify these items with
the help of following information and write their correct names on the lines marked on the map : 3
(A)  ANuclear Power Plant
(B)  ASoftware Technology Park

(b) On the same political outline map of India, locate and label the following items with appropriate
symbol :

(C) ' Chennai: The Southern metro city connected with the Golden quadrilateral
P.T.O.
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Note : The following questions are for the visually impaired candidates only in lieu of map
question : '
Name the state where Tarapur is situated.
Name the only Software Technology Park of Punjab.
The Goldern Quadrilateral connects which northern metro city of India ?
(@) R % fo gy T Yer-wmfe § A sk B w2 wam fafe fed w0 e e
' SR R T H A H A H A fafea Yaeh w vk wd e —
(A) T sufvas wef w9 ‘
(B) U WiweaH TSt qeh

(b) ﬁmﬁawﬁw&@aﬁmu’%maﬁqqﬁmw%@q—

(C) == : ity =g & To1 aferormm wemR .
W:ﬁw%am%agﬁaﬂanﬂanﬁ%%qmﬁam%mw?—
AR SroTfores el wa= fora 9 § feom &2
mﬁwﬁméﬁaﬁﬁ%wmmy
T G /A 1 -1 I TGRS T R 2



